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Chemlstry Aptltude Test 2015 "
o ‘. Sta'_'re‘_,—,IV for Class XI
-.",FuliMarks"SO e . Time: 1-30 haurs.

_ Answer ali the quostions There are 30 MCQ (1-30).in Group A, eachof 1 -
“mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multiple
shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
“each of 2 marks — answer theu questlons inthe space provided fm' ln
 the Answm'-script. el T e

_ . _ 1x30=30
. A 5% solution of cane sugar (mol.wt. -—-342) is isotonic with 1%
e X. The molecular welght of X’ will

 sol utlon ofang i fi. ,. ubs
o (m S%fﬁﬁ‘ﬂm(‘ﬂmﬁ?‘m 342)W°I§~ﬂw9m&fxm 1%

. maﬁgm'{@i ‘X’@?Wﬁﬂm)

(@ 342 | (b) 171 2 - (c) 684 ~ (d) 136. 8

s The ethbnum constants for the followmg reactions are as :
N, ,+3H, < 2NH, ; Kp= 064and‘/zN +-2-H?t-;NH3,Kp =X,
_thevalueof‘X’vnllbe -

| _(ﬁmﬁWﬁawmm N +3H,‘-2NH3,Kp 064

‘/zN +-------Hz«--vNH3 Kp Xzm, ‘X’ 93 A A )
(a) 0.80 (b)064 (c)040 B (d) 156

3.  GivenE%Cy*/Cu= 0337VandE°cu2+/cu+-—0 153v The value of
 E°forthe changeof Cu'4+e=Cuis: ; -
- (TreT TR E°Cu2*/Cu =0. 337VWE°Cu2+/Cu+-0 153V Cu e
=Cu viﬁamm E%qua) - -
_(a) 0. 38V (b) 0. vV (c) 030V _(d)'-' '0'.,52_-v..
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. I""'..(a) 52x IO"_ohm“ m“
- (© 93x107 ohm! et

o " ; (a) Phenol

4, The value of Am"' forNH Cl NaOH and NaCl at infinite dilution

) are 130, 248 and 126 ohm vr:m’mel“"1 respectlvely, then the value
IEGfAm+ofNHOHls R, - |

(e erger NH,Cl, NaOH @3¢ Nacl @3 Am* @3 9 wzmr 130, -
- rugew12 5 ohm! cm’mol % Am'* of NH,OH a7 317 2

'j“;;(a) 252 (b) 242 (c) 262 f (d) 232

Of pure '

| temperature i5'631.9 mm of Hg The molahty of the solution is :

' am@feﬂmw%swnuanmmmaﬁﬁm )
(2).0.516 (6)0.156 (©) 0561  (d) 0.165.

: A eonductance cell has twe parallel electrodes Wlth 1.25 cm2 cross '

(b) 5. 3 X 10‘2 ehm*' cm"‘l )
(d) None of these

7. The compound eurot:opm Is — (VG - :
@GN, OCHN, ©CHN, © CHN,

8 : 'When 2—hydroxy benzoxc acid is distilled Wlﬂl Zn dust, it gwes *l.
o @m a—@ﬁmwﬁmh{ﬁwmwmwm '

. .fvrmefonemmwmﬁ)
(b) Benzmcacld

- - -f;_ﬁ(c). Benzaldehyde (d) None of these
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" ur pressure ofa soltmon of a solute i in benzene at the same

°C Ottt Ro% GRS 15191 639.7 mm Hg | 09 Bworm @b

38.

39.

40.

CH_,,'—— CH, -Bron treatment. with KCN_ gives mainly cyano
compound why ? (CH, - CH, Br & KCN @3 3 [{fdra warer
emm cﬁm%@ﬂﬂmm ?)

- (31131\102 . m
[A] — > [B]
||

O

Predict A & B. (A 92 B IS ) |

Compount ‘A’ (C,H ,BI) gives a white precipitate when warmed

with alc-—AgNO Oxidation of A gives an acid ‘B’ (C,H O,).

‘B’ easily forms an hydride on heating. Identify A & B.
(‘A’ (C,H,Br) zﬁrmwmﬁaAgNo 47 T Bed SR

| YT (o IR | A’ GH I G0 Wi ‘B’ (C.H0,) tod =

8 7674

mﬂMﬁ‘B’WWW@ﬁeZ@%WIAe BWW)I
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.
32

33,

35.

36.

37.

At what oo:f-;_u'atlon of PO 1 1ons in O I(M) aqueous solutlon |

i * by Gabnel Phtha]nmde Synﬁaems ?

(’ﬂﬁ'@ﬂ WWW mwammm ?)

B (%Tféim('n)ﬂwavﬁmm ?)
34,

of AgN. wﬁl Ag3P0 start to prec1p1tate

~ Given: Ksp(Ag,PoJ 1.3x10®, S _
o (AgNO .aammwﬁampos—wmwwm%spo -
_mwwvn wm ?Mm Ksp (Ag3P0) 13x 10%) '

At 25°C, he __ evolved due to complete com y f‘on of 7.8 g of

H, (O is 325 5kj. Calculate the heat evolved due to eomplete"

combustuon of the same amount of CﬁH6 (l) at the same tempera—
ture and constant pressure of 1 atm. =

(25°C @ R vt 7.8 g CH, (0 tﬁ’i"’[‘fw 326. 4kj etvrt‘s‘e:ﬂm '

IR Twermefiml ahnW’l’W’ﬁﬂTﬂcﬁHb (l) tﬂawﬁqm
%ﬂ"lﬁW‘Pﬁﬂﬂﬁ‘fﬂm D

Convert the follomng (’lﬁ?l‘s_'[ = )
(i) Acetylene —> Oxirane.
(ii) Benzene —> Fluorobenzene

Why NaCN is used in the extraction of gold and silver metal ?
(ﬁemmﬁmeaCNWam ?)

Pagosofs

zx10=20 N

. The carboxyl functmnal group (—COOH) is present in —

| .'(WW mmﬂ )

" (a) Picric amd
. (c) Ascorblc acxd

' 10. '*The synthes:ts of alkyl Iodlde is best accomphshed by — I .

(b) Barbltunc acxd
(d) Aspirin. |

(e TS R /T ST w1 -)

12.

13.

. B (a) kaelstem react:en o
- -(e) Free radlcal reacuon

11,

(@ HPO, (b)(HPO)),
14.

~(b) Swart’s reaction .
(d) Sandmeyer S reactlon -

- Which of the followmg compound of Xenon has pyramldal

geometry‘7 (Wmcmﬁ%ﬁﬁwm N
@ XeOF ~ (b) XeF, (c) XeO, (d) SeF,.

Whlch one of the followmg is most basic in nature? (53 Cﬁst;[ﬁ
46 WA 2) :

(2) ' CH3NH2 (b)

(d) (CH,) NH.

© ‘
NH,

Which of the f0110wing compound has a P-P bond ?

(537 @1 (Toifore P-P 1gw wrg #)

() HP,0, d HPO.

Total volume of atoms present in face centered cubic unit cell of
a metal is (r = radius of atom).

(4% 4197 TR (foc) 933 GIeat B sRuipofi @b s
(r— a%ﬁ 4 mqa maﬁ).

@Fw OFw  @Ffr  ©%w
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1S.

16.

17

18.

' 19.

(c) C—O 10 mg |
The bmnc character of transmon metal mono oxxdes follows the .

Which of the following is a good protectlve colloid for Gold sol.

having Gold numbers are as follows :
@mmﬁ%ﬁmmwwwmlmmw

(a) A=0.05 mg (b)B=30mg
' @)D= 100 mg.

orderof—- |

(ﬁm@mwﬁmmmmmmo
(a) CrO > VO >FeO > TiO
(c) Ti0>v0>Cro>Fe0 (d)V0>Cr.>Ti0>FeO

Which of the followmg shows both geomelncal aswell as opt:lcal -

1somensm

(ﬁmmwﬁmwmﬁw maﬂw erwﬁm*)'

(a) [PtCl(en), "

| (b) [NI(EIY)z ]0 .
) [ Pt(NHs)(PY)z(:l ]

 @[Co(CNS), .

& g, g;;;);m 2 24

-(a) _ (b) & (c) 8 @ 8

s o
Sy ”—L%A%B + HCOONa.

CompoundA.& Bare B (Aw B mﬁ W) |
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(b)) TIO>FeO>VO>CrO

29.

0 09
(i) CH=C Na,NH3 (i) dil sto4,Hg+2 (i) OsO,
(i) H,0* X (if) hea x (ii) HIO, £
Here ‘7’ is — (uﬂ*ﬂtﬂ ‘L -) |
- COCH; o COOH

nl
® C‘; .
OH

@ SN
'0) 0O

“Find the incorrect statément - (§51 I (77 39 1)
- (a) Silkis a polyester (Pre <3 =fbr)
() Cellulose and starch are polysacchandes (mm R Vﬁrﬁ?@

ARTIRIRIRS)

- (c) RNA & DNA are polynuclntxdes (RNA €32 DNA "a"c’i

@ Gutta-Percha isa polymer of isoprene. (I1B1-#{151 1 Wﬁﬁﬂaﬂ—

30.

ﬂmvﬁm)l .

Which one of the followmg is anuhlstamm drug ?

mmﬁwﬁﬁoﬁﬁwmo

j (a) Omeprazo le (*eﬁm)

(b) Chloramfenicol (@RTFRwe)

(c) Diphenyle hydromine (SRR 2R)
(d) Norethmdron. (ﬂ‘ﬁﬁﬂm)l
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(a) CH,- CHZOH; CH,  (bCH, -C QCH,, CHL,

" (c) CH,COOH, CH,COONa

"OH OH

(&) CH,~CH-0~CH-CH,, CH, - CHI CH,

20.
(D)
B -(a) Slx ~ (b) Five (c) Four (d) Three.

21.

22,

23

In B—-D(+)~ Glu_cosé how many chiral centers are present —
-Glucose « &R @b #%3 (chiral) 31 AT Y 291 -)

'Wlnch of the follomng 1s a homopolymer —

(AR IO - TAIZA -)

(a) Bakelite (b)Nylon-66 (c) Terylene (d) Neoprene.

Select the incorrect statement for CsCL

(CsCl 3128 v&1 T8 AT 391)

a) 'Co-ordination no. of Cs* and CI-is 6 (Cs 8 Cl 93 7%

R ZE 6)
| l'cs+
b) - i~ 0 732

Ccr

c) The sl:rucmre chm@ed to NaCl like at 760K (7601(‘@??!:!131111 g
T ﬂﬁmmNaCMaWﬂt)

d) CI ions are present at cubic sites.(Cl- SRR cubic sites-4

- qIZN W) I |
The pH of buffer solution containing 4 x 10~ and 0.4 moles of

- acetic and (Pka = 4.76) and sodium acetate respectively will be —
(430 IR FI IAEFW 4 X 102 93k 0.4 e i soibie e
S SFEE T$T | 73wy pH 2@ )

(a) 6.76 (b) 4.76 ¢c)276 d) 0.76



24. The half life (tz/z) for the hydrolysw of an ester varies w1th the
 initial concentration of the reactant (Eo) as follows : -

.(mmmﬁmmw@ama(t%)wﬁmmmm
. A(Eo)ﬁﬂﬁcﬁvrﬁaﬁ@@- B
(Eo)/lOmol/L 5. '4.0' 30

Cu/S 240 300 400
- The order ofthe rcactlon is — (ﬁmﬁﬂﬁi) o
@0 e @2 @3
25, Matte contains — (mfl?—ama Lo
 (a) Cuzs, FeO &Slhca _ (b) Cqu FeS & Slhca

(©) CuS, CuzO&Sihc& (&) CuS,Cu0 & Slhca

26. From the stablhty constant given below predlct WhICh is the |
'suongesthgand 2o - o
- (ﬁmmm ﬁa m.-meeaemﬁmm )
(a) Cuﬁ + 41-12059 [CU(I'IZO)4]+2, K=05x10%
(b) Cu?+2en *- [Cu(en),)]?, K=3.0x10"
(c) Cu?+4 CN- e [Cu(CN),J?, K= 20 X107
(d) Cu*?+ 4 NH, [Cu(NH3)4]"‘2 K=45x 10”l

217. o-BmmOphenoI is readlly prepared from phenol usmg the
- followmg COIld.ltIOIIS - -
(ﬁmmwﬁmmmmmw@-)
(a) (1) (CH ,CO),0, (i) Br,, (iii) HCl- H20 A
(b) (1) HzSO 100°C (i) B , (1) H,0%,100°C |
1 (c) N-bromosuccunnude dlbenzoylperomde CCl A
(d) Br /FeBr | |
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